AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAY

AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA

|etssherercny!
6rade 7 Vocabulary
Directions: Choose the word that best completes each sentence. Write it on

the line.

1) The best way for a horse to work out excess energy is through the use of

(wrangle, lunging, endurance).

2) There are different uses for a(n) (out rider,

hackamore, derby) because they can be on a separate horse to help guide others

or as a rider in a wagon who jumps down to hold the horses when they stop.

3) A saddle has multiple important parts, but the

(hackamore, bridle, latigo) is what keeps it in place.

4) I do not like using a typical (latigo, hackamore,

bridle) with a harsh bit so I use a (latigo, hackamore,

bridle).

5. A(n) (out rider, farrier, cavalletti) works specifically

with (lunging, derby, hooves), but some also provide

other care services.

6. Great training is required to keep a horse from trying to

(balk, gait, endurance) and one common method is to

have them go through obstacles like crossing a tarp, walking through water, or

having a coat blowing around them.

7)A (wrangle, cavalletti, circuit) is often used to

help a horse learn how to properly jump over higher fences.

Visit www.letsshareknowledge.com for more worksheets
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Answer Key

Worksheet 4

1. lunging

2. out rider

3. latigo

4. bridle, hackamore

5. farrier, hooves

6. balk

7. cavalletti

Visit www.letsshareknowledge.com for more worksheets
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